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1 NS: [t &2 5BEH0) 17 1 1 NS: E30E SPECE(BAC) 11 11.50 : 8.50 Total VP: 62.94 Rank:
EW Bomt §%%(E§C) -11 EW: BREISC SEXFE(FO0) -1 IMP:| 16 12 13
I
#1 Py 832 4SE5 -450 Mean: 2DXN-2 2300 50 1 |[|#2 & QJ94 6DS6 1370 Mean: 6DS6 1370 80 7
v J6 4HWG6 -480 -490  4SE5 450 1.0 2 v KQJ8 6DS6 1370 1010  3NS7 720 7.0 1
¢ J87654 Dif: 30 NS:1  4HW5 450 1.0 1 *J7 Dif: 0 NS:8 3NN7 720 7.0 2
a Q4 IMP: 1 EW:0 3NW5 -460 1.0 1 » 762 IMP: 0 EW:-8 5DS6 620 9.0 3
s A5 » KQT64 5HE6 480 0.0 1 ||s KT852 s 73 5DN7 640 9.0 1
v AK72 v 9543 4SE6 -480 0.0 1 v 52 I v T7643
¢ Q93 . 4HW6 480 00 4 ||eQ + 98
& K765 & AT92 4HE6 -480 0.0 2 ||& AK543 & JT98
PIVEON ,J97 6HE6 -980 -10.0 1 ®PIVEN , A6
N ~~~~~ QT8 N ~6~~2 vA9
S ~~~~~ ¢ AKT2 S ~6 ~~ 2 ¢ AKT65432
E 6~654 aJ83 E~~~~~aQ
W 6~654 W ~~~~~
#3 » KQT 3NS3 400 Mean: 3NS7 520 8.0 1 ||#4 » KQ62 2HE-1 100 Mean: 3NN3 600 10.0 1
v 94 3CS3110 170  3NS3 400 60 1 v A64 2CS4130 170  3HE-3 300 40 1
+ AB2 Dif: 290 NS:6 3SE-2 200 1.0 1 ¢ 9765 Dif: -30 NS:-2 3HE-2 200 1.0 1
» JT654 IMP: 7 EW:2 2NS4 180 00 1 » 95 IMP: -1 EW:1 4CS4 130 1.0 1
& J963 s 752 3CSs4 130 1.0 2 ||a T84 & J53 3CS4 130 1.0 1
v AKQ75 v J6 2NS3 150 1.0 1 [|v KQT3 + v J8752 2Ccs4 130 1.0 7
¢ 985 ¢ Q743 2Ccs4 130 1.0 1 [|e T82 ¢ AQ3 2HE-1 100 20 1
&3 & A987 3CS3 110 20 2 ||s KQ2 & T6 2CS3 110 20 1
PIVEeN ,A84 3CN3 110 2.0 1 POIVEN 4 A7
N 3~~~1 ¢T832 2DE-1 00 20 1(|N 43 ~42 99
S 3~~~1 +KJT 2CSs3 110 20 1 S 43 ~42 4KJH
E ~~~~~ aKQ2 2CSs2 90 20 1 E ~~~~~ & AJ8743
W ~~~~~ W ~~~~~
#5 # 653 3HS3 140 Mean: 3HS4 170 50 1 ||#6 » AT632 4SN-1-50 Mean: 3SN4 170 50 1
v AJ6542 4HS-1-100 -20  3HS3 140 40 2 v AT73 4SN-2-100 -30  3SN3 140 50 1
. Q2 Dif: 240 NS:4 3HN3 140 40 1 ¢ T6 Dif: 50 NsS:-1 3DS3 110 40 1
A T6 IMP: 6 EW:2 2HN3 140 40 1 » J9 IMP: 2 EW:2 2DS3 110 40 1
a T2 » KQ97 4CW-1 50 20 1 ||s KJ8 475 4SN-1 50 1.0 1
v 87 v K93 4HS-1 100 20 3 ||v QJ964 —_— v K2 3SN-1 50 1.0 3
¢ 63 + KT87 4HN-1 100 20 1 ||e 4 + 9852 4SN-2 100 -20 4
& AQJ9832 & 74 3HN-1 100 -20 1 ||& Q874 & AK653 2HW3 140 30 1
PIVEeN ,AJ4 2NW3 150 -40 1 PIVEN 4, QY4 4SXN-2 300 7.0 1
N ~121~ «QT 4HN-2 200 50 1||N ~3~32 ¢85
S ~121~ ¢AJ954 3NS-3 -300 7.0 1 S ~3~32 ¢ AKQJ73
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
#7 & A96 4S5S4 620 Mean: 5SS5 650 80 1 ||#38 » Q54 3NE3 -400 Mean: 5DE-2 100 100 1
v QJB4 4SS5650 310 4SS5 650 8.0 1 v Q7 3NW3 -400 -380 4SE4 420 1.0 1
. Dif: -30 NS:7 4SS4 620 7.0 7 ¢ 9542 Dif: 0 NS:-1  3NW3 400 1.0 6
» KQ9865 IMP: -1 EW:-8 3SS4 170 40 1 » KT93 IMP: 0 EW:1 3NE3 400 1.0 2
» 8732 T 6SS-1 100 90 1 97 » AJT62 4SE5 450 20 1
v K962 + v T53 48S-1 -100 9.0 2 ||v A9853 v KT 3NE5 460 20 1
+ KQ72 + AJ9654 6SXS-4 1100 -16.0 1 ||e AK6 + JT83 3NE4 430 20 1
aJ S & AT2 & J82 & A7 3NW6 490 3.0 1
®eveN L KQJ54 ®IveN L K83
N 4~~4~ A7 N ~~~~~ ¢ J642
S 4~~3~ 4783 S ~~~~~ 4Q7
E ~4~~1 a743 E ~4453 Q654
W ~4~~1 W ~4453
#9 » KT43 4HN4 420 Mean: 5NN5 460 50 1 ||#10 » 32 4SW4 -620 Mean: 3SW-1 100 60 1
v K3 4NN5 460 250  5HS5 450 50 1 v KT832 2SW5 -200 -140  2SW-1 100 60 1
+ Q54 Dif: -40 NS:5 4NN5 460 50 2 * K8 Dif: -420 NS:-10 1NWA1 90 20 2
» AK63 IMP: -1 EW:-5 4NN4 430 50 2 » AT74 IMP: -9 EW:2 2SW2 410 1.0 2
a7 # J9862 4HN4 420 50 1 ||s AQ875 » K94 1NW2 120 1.0 1
v JT62 v 94 3NN5 460 50 1 ||e AJT7 + v 64 3SW3 140 00 2
¢ AJT983 *2 3NN4 430 50 1 ||e A4 ¢ QJT65 3SW4 470 1.0 1
& Q2 & T9875 6NN-1 50 7.0 2 ||a& J85 & 962 2SW5 200 20 2
PEVEN ,AQ5 5HN-1 50 7.0 1 POVEN L, JT6 1NW5 210 20 1
N ~~ 445 ¢AQ875 6NN-3 150 90 2 ||N 2~3~~ ¢ Q9 4SW4 620 -100 1
S ~~445 ¢K76 S 2~3~~ 49732
E ~~~~~ aJ4 E ~2~21 &KQ3
W ~~~~~ W ~2~21
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NS: FEEH £552FH(GH0) 24 5 NS: 8l3%K ZZREIR(BAC) 19 1114 : 8.86 Total VP: 86.79 Rank:
EW FRZE () %Fg(ﬁﬁ@ -19 EW: fB{E32 2BEHR(BO) -2 15 : 12 4
I
» 832 4SE6 -480 Mean: 2DXN-2  -300 5.0 1 » QJ94 6DS6 1370 Mean: 6DS6 1370 8.0 7
v J6 4HW6 -480 -490  4SE5 450 1.0 2 v KQJ8 6DS6 1370 1010  3NS7 720 7.0 1
¢ J87654 Dif: 0 NS:0 4HW5 450 1.0 1 * J7 Dif: 0 NS:8 3NN7 720 7.0 2
a Q4 IMP: 0 EW:0 3NW5 -460 1.0 1 » 762 IMP: 0 EW:-8 5DS6 620 9.0 3
» KQT64 5HE6 480 00 1 s 73 5DN7 640 9.0 1
v 9543 4SE6 -480 00 1 | v T7643
S 4HW6 -480 00 4 ¢ 98
& AT92 4HE6 -480 00 2 & JT98
» J97 6HE6 -980 -10.0 1 ®N 4, A6
v QT8 ~ 2 v A9
¢ AKT2 ~ 2 ¢ AKT65432
» J83 ~~ a&Q
» KQT 2CS4 130 Mean: 3NS7 520 8.0 1 » KQ62 2CS4 130 Mean: 3NN3 600 10.0 1
v 94 3CS3110 170  3NS3 400 60 1 v A64 2CS4 130 3HE-3 300 40 1
+ AB2 Dif: 20 NS:-1  3SE-2 200 1.0 1 ¢ 9765 Dif: 0 NS:-1 3HE-2 200 1.0 1
» JT654 IMP: 1 EW:2 2NS4 180 00 1 » 95 IMP: 0 EW:1 4CS4 130 1.0 1
a 752 3CS4 130 1.0 2 & J53 3CS4 130 1.0 1
v J6 2NS3 150 1.0 1 + v J8752 2Cs4 130 1.0 7
¢ Q743 2Cs4 130 1.0 1 ¢ AQ3 2HE-1 100 20 1
& A987 3CS3 110 20 2 & T6 2CS3 110 20 1
» A84 3CN3 110 20 1 & A97
v T832 2DE-1 100 20 1 v9
o KJT 2Ccs3 110 20 1 * KJ4
» KQ2 2cs2 90 20 1 » AJ8743
#» 653 2HN3 140 Mean: 3HS4 170 50 1 » AT632 2DS3 110 Mean: 3SN4 170 50 1
v AJ6542 4HN-2-200 -20 3HS3 140 40 2 v AT73 3SN-1 -50 3SN3 140 50 1
* Q2 Dif: 340 NS:4 3HN3 140 40 1 ¢ T6 Dif: 160 NS:4 3DS3 110 40 1
A T6 IMP: 8 EW:5 2HN3 140 40 1 » J9 IMP: 4 EW:1 2DS3 110 40 1
a T2 » KQ97 4CW-1 50 20 1 475 4SN-1 50 1.0 1
v 87 v K93 4HS-1 100 20 3 —_ v K2 3SN-1 50 1.0 3
¢ 63 + KT87 4HN-1 100 20 1 + 9852 4SN-2 100 -20 4
& AQJ9832 & 74 3HN-1 100 20 1 & AK653 2HW3 140 30 1
PIVEeN LAl 2NW3 150 -40 1 ®N , Q94 4SXN-2 300 7.0 1
N ~121~ «QT 4HN-2 200 50 1 32 ¢85
S ~121~ ¢AJ94 3NS-3 -300 7.0 1 3 2 ¢ AKQJ73
E 3~~~2 aK5 ~~ aT2
W 2~~~2 ~ ~
& A96 4S5S4 620 Mean: 5SS5 650 8.0 1 » Q54 4SE5 -450 Mean: 5DE-2 100 100 1
v QJ84 4SS4 620 310 4SS5 650 8.0 1 v Q7 5DE-2 100 4SE4 420 1.0 1
. Dif: 0 NS:7 4SS4 620 7.0 7 ¢ 9542 Dif: -550 NS:-2 3NW3 400 1.0 6
» KQ9865 IMP: 0 EW:-7 3SS4 170 40 1 » KT93 IMP: -11 EW:-10 3NE3 400 1.0 2
aT 6SS-1 100 -9.0 1 a AJT62 4SE5 450 20 1
+ v T53 45S-1 100 90 2 v KT 3NE5 460 20 1
+ AJ9654 6SXS-4  -1100 -16.0 1 ¢ JT83 3NE4 430 20 1
S & AT2 & A7 3NW6 490 3.0 1
» KQJ54 & K83
v A7 v J642
~ 783 * Q7
1 743 » Q654
1
» KT43 3NN4 430 Mean: 5NN5 460 50 1 » 32 3SW3 -140 Mean: 3SW-1 100 60 1
v K3 5NN5 460 250 5HS5 450 50 1 v KT832 1NW5 -210 2SW-1 100 60 1
+ Q54 Dif: -30 NS:5 4NN5 460 50 2 * K8 Dif: 70 NS:0 1NW1 90 20 2
» AK63 IMP: -1 EW:-5 4NN4 430 50 2 » AT74 IMP: 2 EW:2 2SW2 110 1.0 2
a7 # J9862 4HN4 420 50 1 » K94 1NW2 120 1.0 1
vJ v 94 3NN5 460 50 1 + v 64 3SW3 140 00 2
* *2 3NN4 430 50 1 + QJT65 3SW4 170 1.0 1
& Q2 & T9875 6NN-1 50 7.0 2 & 962 28W5 200 20 2
& AQ5 5HN-1 50 7.0 1 a JT6 1NW5 210 20 1
N v AQ875 6NN-3 150 9.0 2 v Q95 4SW4 -620 100 1
S + K76 ¢ 9732
E a J4 » KQ3
w
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3 NS: EEE ﬁjﬁg(ﬁﬁm -8 14 NS: EBS:‘RE }I%M(EHC) -19 P:| 16.39 : 3.61 Total VP: 107.74 Rank:
EW: #4E 3 EEH0) 19 EW: 208 $8Z5/R(F0) 8 IMP:| 37 15 2
— I
#1 # 832 2DXN-2 -300 Mean: 2DXN-2  -300 5.0 1 [[#2 » QJ94 5DS6 620 Mean: 6DS6 1370 8.0 7
v J6 4HEG6 -480 -490  4SE5 450 1.0 2 v KQJ8 6DS6 1370 1010  3NS7 720 7.0 1
¢ J87654 Dif: 180 NS:5 4HWS5 450 1.0 1 *J7 Dif: -750 NS:-9 3NN7 720 7.0 2
a Q4 IMP: 5 EW:0 3NW5 -460 1.0 1 » 762 IMP: -13 EW:-8 5DS6 620 9.0 3
s A5 » KQT64 5HE6 480 0.0 1 ||s KT852 s 73 5DN7 640 9.0 1
v AK72 v 9543 4SE6 -480 0.0 1 v 52 I v T7643
¢ Q93 . 4HW6 480 00 4 ||eQ + 98
& K765 & AT92 4HE6 -480 0.0 2 ||& AK543 & JT98
PIVEON ,J97 6HE6 -980 -10.0 1 ®PIVEN , A6
N ~~~~~ ¢QT8 N ~6~~2 ¢A9
S ~ ~~~~ ¢AKT2 S ~6~~2 ¢ AKT65432
E 6~654 aJ83 E ~~~~~ aQ
W 6~654 W ~~~~~
#3 » KQT 3SE-2 200 Mean: 3NS7 520 8.0 1 ||#4 » KQ62 3HE-3 300 Mean: 3NN3 600 10.0 1
v 94 3CN3 110 170  3NS3 400 60 1 v A64 2CS4130 170  3HE-3 300 40 1
+ AB2 Dif: 90 NS:1  3SE-2 200 1.0 1 ¢ 9765 Dif: 170 NS:4 3HE-2 200 1.0 1
» JT654 IMP: 3 EW:2 2NS4 180 00 1 » 95 IMP: 5 EW:1 4CS4 130 1.0 1
& J963 s 752 3CSs4 130 1.0 2 ||a T84 » J53 3CS4 130 1.0 1
v AKQ75 v J6 2NS3 150 1.0 1 [|v KQT3 + v J8752 2Ccs4 130 1.0 7
¢ 985 ¢ Q743 2Ccs4 130 1.0 1 [|e T82 ¢ AQ3 2HE-1 100 20 1
&3 & A987 3CS3 110 20 2 ||s KQ2 & T6 2Ccs3 110 20 1
PIVEeN ,A84 3CN3 110 2.0 1 POIVEN 4 A7
N 3~~~1 ¢T832 2DE-1 00 20 1(|N 43 ~42 99
S 3~~~1 +KJT 2CSs3 110 20 1 S 43 ~42 4KJH
E ~~~~~ aKQ2 2CSs2 90 20 1 E ~~~~~ & AJ8743
W ~~~~~ W ~~~~~
#5 & 653 3HS4 170 Mean: 3HS4 170 50 1 #6 & AT632 3SN4 170 Mean: 3SN4 170 50 1
v AJ6542 4CW-150 -20  3HS3 140 40 2 v AT73 4SN-2-100 -30  3SN3 140 50 1
* Q2 Dif: 120 NS:5 3HN3 140 40 1 ¢ T6 Dif: 270 NS:5 3DS3 110 40 1
A T6 IMP: 3 EW:-2 2HN3 140 40 1 » J9 IMP: 7 EW:2 2DS3 110 40 1
s T2 & KQ97 4CW-1 50 20 1 ||s KJ8 475 4SN-1 50 1.0 1
v 87 v K93 4HS-1 100 20 3 ||v QJ964 —_ v K2 3SN-1 50 1.0 3
¢ 63 + KT87 4HN-1 100 20 1 ||e 4 ¢ 9852 4SN-2 100 -20 4
& AQJ9832 & 74 3HN-1 100 -20 1 ||& Q874 & AK653 2HW3 140 30 1
PIVEeN ,AJ4 2NW3 150 -40 1 PIVEN 4, QY4 4SXN-2 300 7.0 1
N ~121~ «QT 4HN-2 200 50 1||N ~3~32 ¢85
S ~121~ ¢AJ954 3NS-3 -300 7.0 1 S ~3~32 ¢ AKQJ73
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
#7 & A96 6SS-1-100 Mean: 5SS5 650 80 1 ||#38 » Q54 3NE4 -430 Mean: 5DE-2 100 100 1
v QJ84 6SXS-4 -1100 310 4SS5 650 8.0 1 v Q7 3NW3 -400 -380 4SE4 420 1.0 1
. Dif: 1000 NS:-9 4SS4 620 7.0 7 ¢ 9542 Dif: -30 NS:-2 3NW3 400 1.0 6
» KQ9865 IMP: 14 EW:16 3SS4 170 40 1 » KT93 IMP: -1 EW:1 3NE3 400 1.0 2
» 8732 T 6SS-1 100 90 1 97 » AJT62 4SE5 450 20 1
v K962 + v T53 48S-1 100 9.0 2 ||v A9853 v KT 3NE5 460 20 1
+ KQ72 + AJ9654 6SXS-4 1100 -16.0 1 ||e AK6 + JT83 3NE4 430 20 1
aJ S & AT2 & J82 & A7 3NW6 490 3.0 1
*¢VSN L, KQJS54 P¢VeSN , K83
N 4~~4~ A7 N ~~~~~ ¢J642
S 4~~3~ 4783 S ~~~~~ 4Q7
E ~4~~1 4743 E ~4453 aQ654
W ~4~~1 W ~4453
#9 » KT43 6NN-3 -150 Mean: 5NN5 460 50 1 ||#10 » 32 2SW2 -110 Mean: 3SW-1 100 60 1
v K3 6NN-3 -150 250  5HS5 450 50 1 v KT832 INW1 -90 -140  2SW-1 100 60 1
+ Q54 Dif: 0 NS:-9 4NN5 460 50 2 + K8 Dif: 20 NS:1  1NWA 90 20 2
» AK63 IMP: 0 EW:9 4NN4 430 50 2 » AT74 IMP: -1 EW:-2 2SW2 410 1.0 2
a7 # J9862 4HN4 420 50 1 ||s AQ875 & K94 1NW2 120 1.0 1
v JT62 v 94 3NN5 460 50 1 ||e AJT7 + v 64 3SW3 140 00 2
¢ AJT983 *2 3NN4 430 50 1 ||e A4 ¢ QJT65 3SW4 470 1.0 1
& Q2 & T9875 6NN-1 50 7.0 2 ||a& J85 & 962 2SW5 200 20 2
PEVEN ,AQ5 5HN-1 50 7.0 1 POVEN L, JT6 1NW5 210 20 1
N ~~ 445 ¢AQ875 6NN-3 150 90 2 ||N 2~3~~ ¢ Q9 4SW4 620 -100 1
S ~~445 ¢K76 S 2~3~~ 49732
E ~~~~~ aldd E ~2~21 &KQ3
W ~~~~~ W ~2~21
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4 NS: &5 ES %&ﬁ(ﬁﬁ@ -19 12 NS: B#ER &i H(FC) -1 P:| 425 : 15.75| Total VP: 52.98 Rank:
EW BT ﬁ_ﬁ{n@(%@l EW: [RiBZ & {£(50) 19 IMP:| 20 39 14
I
#1 Py 832 6HE6 -980 Mean: 2DXN-2 2300 50 1 |[|#2 & QJ94 3NS7 720 Mean: 6DS6 1370 80 7
v J6 5HEG6 -480 -490  4SES5 450 1.0 2 v KQJ8 3NN7 720 1010 3NS7 720 7.0 1
¢ J87654 Dif: -500 NS:-10 4HWS5 450 1.0 1 *J7 Dif: 0 NS:-7  3NN7 720 7.0 2
a Q4 IMP: -11 EW:0 3NW5 -460 1.0 1 » 762 IMP: 0 EW:7 5DS6 620 9.0 3
s A5 » KQT64 5HE6 480 0.0 1 ||s KT852 s 73 5DN7 640 9.0 1
v AK72 v 9543 4SE6 -480 0.0 1 v 52 I v T7643
¢ Q93 . 4HW6 480 00 4 ||eQ + 98
& K765 & AT92 4HE6 -480 0.0 2 ||& AK543 & JT98
PIVEON ,J97 6HE6 -980 -10.0 1 ®PIVEN , A6
N ~~~~~ QT8 N ~6~~2 vA9
S ~~~~~ ¢ AKT2 S ~6 ~~ 2 ¢ AKT65432
E 6~654 aJ83 E~~~~~aQ
W 6~654 W ~~~~~
#3 » KQT 3NS7 520 Mean: 3NS7 520 8.0 1 ||#4 » KQ62 2CS3 110 Mean: 3NN3 600 10.0 1
v 94 3CS4130 170  3NS3 400 60 1 v A64 3NN3 600 170  3HE-3 300 40 1
+ AB2 Dif: 390 NS:8 3SE-2 200 1.0 1 ¢ 9765 Dif: -490 NS:-2 3HE-2 200 1.0 1
» JT654 IMP: 9 EW:1 2NS4 180 00 1 » 95 IMP: -10 EW:-10 4CS4 130 1.0 1
& J963 s 752 3CSs4 130 1.0 2 ||a T84 & J53 3CS4 130 1.0 1
v AKQ75 v J6 2NS3 150 1.0 1 [|v KQT3 + v J8752 2Ccs4 130 1.0 7
¢ 985 ¢ Q743 2Ccs4 130 1.0 1 [|e T82 ¢ AQ3 2HE-1 100 20 1
&3 & A987 3CS3 110 20 2 ||s KQ2 & T6 2CS3 110 20 1
PIVEeN ,A84 3CN3 110 2.0 1 POIVEN 4 A7
N 3~~~1 ¢T832 2DE-1 00 20 1(|N 43 ~42 99
S 3~~~1 +KJT 2CSs3 110 20 1 S 43 ~42 4KJH
E ~~~~~ aKQ2 2CSs2 90 20 1 E ~~~~~ & AJ8743
W ~~~~~ W ~~~~~
#5 # 653 2NW3 -150 Mean: 3HS4 170 50 1 ||#6 » AT632 2HW3 -140 Mean: 3SN4 170 50 1
v AJ6542 3HN-1-100 -20 3HS3 140 40 2 v AT73 3SN-1-50 -30  3SN3 140 50 1
. Q2 Dif: -50 NS:-4 3HN3 140 40 1 ¢ T6 Dif: -90 NsS:-3 3DS3 110 40 1
A T6 IMP: -2 EW:2 2HN3 140 40 1 » J9 IMP: -3 EW:1 2DS3 110 40 1
a T2 » KQ97 4CW-1 50 20 1 ||s KJ8 475 4SN-1 50 1.0 1
v 87 v K93 4HS-1 100 20 3 ||v QJ964 —_— v K2 3SN-1 50 1.0 3
¢ 63 + KT87 4HN-1 100 20 1 ||e 4 + 9852 4SN-2 100 -20 4
& AQJ9832 & 74 3HN-1 100 -20 1 ||& Q874 & AK653 2HW3 140 30 1
PIVEeN ,AJ4 2NW3 150 -40 1 PIVEN 4, QY4 4SXN-2 300 7.0 1
N ~121~ «QT 4HN-2 200 50 1||N ~3~32 ¢85
S ~121~ ¢AJ954 3NS-3 -300 7.0 1 S ~3~32 ¢ AKQJ73
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
#7 & A96 5SS5 650 Mean: 5SS5 650 80 1 ||#38 » Q54 3NW6 -490 Mean: 5DE-2 100 100 1
v QJB4 3SS4170 310 4SS5 650 8.0 1 v Q7 3NW3 -400 -380 4SE4 420 1.0 1
. Dif: 480 NS:8 4SS4 620 7.0 7 ¢ 9542 Dif: -90 NS:-3 3NW3 400 1.0 6
» KQ9865 IMP: 10 EW:4 3SS4 170 40 1 » KT93 IMP: -3 EW:1 3NE3 400 1.0 2
» 8732 T 6SS-1 100 90 1 97 » AJT62 4SE5 450 20 1
v K962 + v T53 48S-1 -100 9.0 2 ||v A9853 v KT 3NE5 460 20 1
+ KQ72 + AJ9654 6SXS-4 1100 -16.0 1 ||e AK6 + JT83 3NE4 430 20 1
aJ S & AT2 & J82 & A7 3NW6 490 3.0 1
®eveN L KQJ54 ®IveN L K83
N 4~~4~ A7 N ~~~~~ ¢ J642
S 4~~3~ 4783 S ~~~~~ 4Q7
E ~4~~1 a743 E ~4453 Q654
W ~4~~1 W ~4453
#9 » KT43 6NN-1 -50 Mean: 5NN5 460 50 1 ||#10 » 32 1NW2 -120 Mean: 3SW-1 100 60 1
v K3 4NN4 430 250  5HS5 450 50 1 v KT832 3SW3 -140 -140  2SW-1 100 60 1
+ Q54 Dif: -480 NS:-7 4NN5 460 50 2 + K8 Dif: 20 NS:1  1NWA 90 20 2
» AK63 IMP: -10 EW:-5 4NN4 430 50 2 » AT74 IMP: 1 EW:0 2Sw2 410 1.0 2
a7 # J9862 4HN4 420 50 1 ||s AQ875 » K94 1NW2 120 1.0 1
v JT62 v 94 3NN5 460 50 1 ||e AJT7 + v 64 3SW3 140 00 2
¢ AJT983 *2 3NN4 430 50 1 ||e A4 ¢ QJT65 3SW4 470 1.0 1
& Q2 & T9875 6NN-1 50 7.0 2 ||a& J85 & 962 2SW5 200 20 2
PEVEN ,AQ5 5HN-1 50 7.0 1 POVEN L, JT6 1NW5 210 20 1
N ~~ 445 ¢AQ875 6NN-3 150 90 2 ||N 2~3~~ ¢ Q9 4SW4 620 -100 1
S ~~445 ¢K76 S 2~3~~ 49732
E ~~~~~ aJ4 E ~2~21 &KQ3
W ~~~~~ W ~2~21
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8 11431;*1 &W#ﬁﬁﬁ'% ~H e ==>R8 8
5 NS: ElEK @ﬁggg(]aqc) 19 2 NS: F‘ﬁ“_ﬁﬁ &i?iﬁ](ﬁﬁO) 24 P:| 8.86 : 11.14| Total VP: 69.58 Rank:
EW: 13{EH FEE7EBI0) 24 EW: BRZE0 #REEE(BAC) -1 IMP:| 12 : 15 10
— . I
#1 832 4SE6 480 Mean: 2DXN-2 2300 50 1 |[|#2 & QJ94 6DS6 -1370 Mean: 6DS6 1370 80 7
v J6 4HW6 480 -490  4SES 450 1.0 2 v KQJ8 6DS6 -1370 1010  3NS7 720 7.0 1
¢ J87654 Dif: 0 NS:0 4HWS5 450 1.0 1 *J7 Dif: 0 NS:8 3NN7 720 7.0 2
a Q4 IMP: 0 EW:0 3NW5 -460 1.0 1 » 762 IMP: 0 EW:-8 5DS6 620 9.0 3
s A5 » KQT64 5HE6 480 0.0 1 ||s KT852 s 73 5DN7 640 9.0 1
v AK72 v 9543 4SE6 -480 0.0 1 v 52 I v T7643
¢ Q93 . 4HW6 480 00 4 ||eQ + 98
& K765 & AT92 4HE6 -480 0.0 2 ||& AK543 & JT98
PIVEON ,J97 6HE6 -980 -10.0 1 ®PIVEN , A6
N ~~~~~ QT8 N ~6~~2 vA9
S ~~~~~ ¢ AKT2 S ~6 ~~ 2 ¢ AKT65432
E 6~654 aJ83 E~~~~~aQ
W 6~654 W ~~~~~
#3 » KQT 2CS4 -130 Mean: 3NS7 520 8.0 1 ||#4 » KQ62 2CS4 -130 Mean: 3NN3 600 10.0 1
v 94 3CS3-110 170  3NS3 400 60 1 v A64 2CS4-130 170  3HE-3 300 40 1
+ AB2 Dif: 20 NS:-2 3SE-2 200 1.0 1 ¢ 9765 Dif: 0 NS:-1 3HE-2 200 1.0 1
» JT654 IMP: -1 EW:1 2NS4 180 00 1 » 95 IMP: 0 EW:1 4CS4 130 1.0 1
& J963 s 752 3CSs4 130 1.0 2 ||a T84 » J53 3CS4 130 1.0 1
v AKQ75 v J6 2NS3 150 1.0 1 [|v KQT3 + v J8752 2Ccs4 130 1.0 7
¢ 985 ¢ Q743 2Ccs4 130 1.0 1 [|e T82 ¢ AQ3 2HE-1 100 20 1
&3 & A987 3CS3 110 20 2 ||s KQ2 & T6 2Ccs3 110 20 1
PIVEeN ,A84 3CN3 110 2.0 1 POIVEN 4 A7
N 3~~~1 ¢T832 2DE-1 00 20 1(|N 43 ~42 99
S 3~~~1 +KJT 2CSs3 110 20 1 S 43 ~42 4KJH
E ~~~~~ aKQ2 2CSs2 90 20 1 E ~~~~~ & AJ8743
W ~~~~~ W ~~~~~
#5 # 653 2HN3 -140 Mean: 3HS4 170 50 1 ||#6 # AT632 2DS3 -110 Mean: 3SN4 170 50 1
v AJ6542 4HN-2200 -20  3HS3 140 40 2 v AT73 3SN-150 -30 3SN3 140 50 1
. Q2 Dif: -340 NS:-5 3HN3 140 40 1 ¢ T6 Dif: -160 NsS:-1 3DS3 110 40 1
A T6 IMP: -8 EW:-4 2HN3 140 40 1 » J9 IMP: -4 EW:-4 2DS3 110 40 1
s T2 & KQ97 4CW-1 50 20 1 ||s KJ8 475 4SN-1 50 1.0 1
v 87 v K93 4HS-1 100 20 3 ||v QJ964 —_ v K2 3SN-1 50 1.0 3
¢ 63 + KT87 4HN-1 100 20 1 ||e 4 ¢ 9852 4SN-2 100 -20 4
& AQJ9832 & 74 3HN-1 100 -20 1 ||& Q874 & AK653 2HW3 140 30 1
PIVEeN ,AJ4 2NW3 150 -40 1 PIVEN 4, QY4 4SXN-2 300 7.0 1
N ~121~ «QT 4HN-2 200 50 1||N ~3~32 ¢85
S ~121~ ¢AJ954 3NS-3 -300 7.0 1 S ~3~32 ¢ AKQJ73
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
#7 & A96 4SS4 -620 Mean: 5SS5 650 80 1 ||#38 » Q54 4SE5 450 Mean: 5DE-2 100 100 1
v QJB4 4SS4 -620 310 4SS5 650 8.0 1 v Q7 5DE-2 -100 -380 4SE4 420 1.0 1
. Dif: 0 NS:7 4Ss4 620 7.0 7 ¢ 9542 Dif: 550 NS:10 3NW3 400 1.0 6
» KQ9865 IMP: 0 EW:-7 3SS4 170 40 1 » KT93 IMP: 11 EW:2 3NE3 400 1.0 2
» 8732 T 6SS-1 100 90 1 97 » AJT62 4SE5 450 20 1
v K962 + v T53 48S-1 100 9.0 2 ||v A9853 v KT 3NE5 460 20 1
+ KQ72 + AJ9654 6SXS-4 1100 -16.0 1 ||e AK6 + JT83 3NE4 430 20 1
aJ S & AT2 & J82 & A7 3NW6 490 3.0 1
®eveN L KQJ54 ®IveN L K83
N 4~~4~ A7 N ~~~~~ ¢J642
S 4~~3~ 4783 S ~~~~~ 4Q7
E ~4~~1 a743 E ~4453 Q654
W ~4~~1 W ~4453
#9 » KT43 3NN4 -430 Mean: 5NN5 460 50 1 ||#10 » 32 3SW3 140 Mean: 3SW-1 100 60 1
v K3 5NN5 -460 250  5HS5 450 50 1 v KT832 INW5 210 -140  2SW-1 100 60 1
+ Q54 Dif: 30 NS:5 4NN5 460 50 2 + K8 Dif: -70 NS:-2 1NWA1 90 20 2
» AK63 IMP: 1 EW:-5 4NN4 430 50 2 » AT74 IMP: -2 EW:0 2SW2 410 1.0 2
a7 # J9862 4HN4 420 50 1 ||s AQ875 & K94 1NW2 120 1.0 1
v JT62 v 94 3NN5 460 50 1 ||e AJT7 + v 64 3SW3 140 00 2
¢ AJT983 *2 3NN4 430 50 1 ||e A4 ¢ QJT65 3SW4 470 1.0 1
& Q2 & T9875 6NN-1 50 7.0 2 ||a& J85 & 962 2SW5 200 20 2
PEVEN ,AQ5 5HN-1 50 7.0 1 POVEN L, JT6 1NW5 210 20 1
N ~~ 445 ¢AQ875 6NN-3 150 90 2 ||N 2~3~~ ¢ Q9 4SW4 620 -100 1
S ~~445 ¢K76 S 2~3~~ 49732
E ~~~~~ aldd E ~2~21 &KQ3
W ~~~~~ W ~2~21
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NS: S8 H&aFEE0) -13 1 0 NS: FRiEL REE(BAC) -2 7.82 12.18| Total VP: 87.30 Rank:
EW: 8% BEEREEAC) 2 EW: R0 [T E(FO) 13 20 3
I
# 832 3NW5 -460 Mean: 2DXN-2  -300 5.0 1 » QJ94 5DS6 620 Mean: 6DS6 1370 8.0 7
v J6 4HW6 -480 -490  4SE5 450 1.0 2 v KQJ8 6DS6 1370 1010  3NS7 720 7.0 1
¢ J87654 Dif: 20 NS:1  4HW5 450 1.0 1 * J7 Dif: -750 NS:-9 3NN7 720 7.0 2
a Q4 IMP: 1 EW:0 3NW5 -460 1.0 1 » 762 IMP: -13 EW:-8 5DS6 620 9.0 3
» KQT64 5HE6 480 00 1 s 73 5DN7 640 9.0 1
v 9543 4SE6 -480 00 1 | v T7643
S 4HW6 -480 00 4 ¢ 98
& AT92 4HE6 -480 00 2 & JT98
» J97 6HE6 -980 -10.0 1 ®N 4, A6
v QT8 ~2 v A9
¢ AKT2 ~ 2 ¢ AKT65432
» J83 ~~ a&Q
» KQT 2CS290 Mean: 3NS7 520 8.0 1 » KQ62 3CS4 130 Mean: 3NN3 600 10.0 1
v 94 2CS3110 170  3NS3 400 60 1 v A64 2CS4130 170  3HE-3 300 40 1
+ AB2 Dif: -20 NS:-2 3SE-2 200 1.0 1 ¢ 9765 Dif: 0 NS:-1 3HE-2 200 1.0 1
» JT654 IMP: -1 EW:2 2NS4 180 00 1 » 95 IMP: 0 EW:1 4CS4 130 1.0 1
a 752 3CS4 130 1.0 2 & J53 3CS4 130 1.0 1
v J6 2NS3 150 1.0 1 + v J8752 2Cs4 130 1.0 7
¢ Q743 2Cs4 130 1.0 1 ¢ AQ3 2HE-1 100 -20 1
& A987 3CS3 110 20 2 & T6 2CS3 110 20 1
» A84 3CN3 110 2.0 1 & A97
v T832 2DE-1 100 2.0 1 v9
* KIT 2Ccs3 110 2.0 1 * KJ4
» KQ2 2cs2 90 20 1 » AJ8743
#» 653 4HS-1 -100 Mean: 3HS4 170 50 1 » AT632 3DS3 110 Mean: 3SN4 170 50 1
v AJ6542 4HS-1-100 -20  3HS3 140 40 2 v AT73 4SN-2-100 -30  3SN3 140 50 1
* Q2 Dif: 0 NS:-2 3HN3 140 40 1 ¢ T6 Dif: 210 NS:4 3DS3 110 40 1
A T6 IMP: 0 EW:2 2HN3 140 40 1 » J9 IMP: 5 EW:2 2DS3 110 40 1
& KQ97 4CW-1 50 20 1 475 4SN-1 50 1.0 1
v K93 4HS-1 100 20 3 —_— v K2 3SN-1 50 1.0 3
+ KT87 4HN-1 100 20 1 + 9852 4SN-2 100 -20 4
& 74 3HN-1 100 20 1 & AK653 2HW3 140 30 1
a AJ84 2NW3 150 -40 1 ®N , Q94 4SXN-2 300 7.0 1
v QT 4HN-2 200 -5.0 1 32 ¢8
¢ AJ954 3NS-3 -300 7.0 1 3 2 ¢ AKQJ73
» K5 ~~ aT2
& A96 4SS-1 -100 Mean: 5SS5 650 8.0 1 » Q54 3NW3 -400 Mean: 5DE-2 100 100 1
v QJ84 4SS4 620 310 4SS5 650 8.0 1 v Q7 3NW3 -400 -380 4SE4 420 1.0 1
. Dif: -720 NS:-9 4SS4 620 7.0 7 ¢ 9542 Dif: 0 NS:-1  3NW3 -400 1.0 6
» KQ9865 IMP: -12 EW:-7 3SS4 170 40 1 » KT93 IMP: 0 EW:1 3NE3 -400 1.0 2
aT 6SS-1 100 -9.0 1 a AJT62 4SE5 450 20 1
+ v T53 45S-1 100 90 2 v KT 3NE5 460 20 1
+ AJ9654 6SXS-4  -1100 -16.0 1 ¢ JT83 3NE4 430 20 1
S & AT2 & A7 3NW6 490 3.0 1
» KQJ54 » K83
v A7 v J642
¢ T83 ¢ Q7
a 743 » Q654
» KT43 3NN5 460 Mean: 5NN5 460 50 1 » 32 2SW2 -110 Mean: 3SW-1 100 60 1
v K3 5HN-1-50 250  5HS5 450 50 1 v KT832 2SW5 -200 -140  2SW-1 100 60 1
+ Q54 Dif: 510 NS:5 4NN5 460 50 2 * K8 Dif: 90 NS:1  1NW1 90 20 2
» AK63 IMP: 11 EW:7 4NN4 430 50 2 » AT74 IMP: 3 EW:2 2SW2 110 1.0 2
# J9862 4HN4 420 50 1 » K94 1NW2 120 1.0 1
v 94 3NN5 460 50 1 + v 64 3SW3 140 0.0 2
*2 3NN4 430 50 1 + QJT65 3SW4 170 1.0 1
& T9875 6NN-1 50 7.0 2 & 962 28W5 200 20 2
& AQ5 5HN-1 50 7.0 1 a JT6 1NW5 210 20 1
v AQ875 6NN-3 150 9.0 2 v Q95 4SW4 -620 100 1
¢ K76 ¢ 9732
a J4 » KQ3




e V3 % jrir- _ 8
8 114&; < F iﬁ]i}%’ﬁm% & ==> R8
7 NS: Radihike RYRN Sunny LAIV 13 NS: M%@L% Eiﬁ(EﬁC) 18 P:| 1.70 : 18.30| Total VP: 67.97 Rank:
EW: Alan SIA Diana SUN(EH C) EW: FiEE TK34(50) 21 IMP:| 4 : 37 11
— I
#1 832 4HWG6 -480 Mean: 2DXN-2 2300 50 1 |[|#2 & QJ94 5DS6 620 Mean: 6DS6 1370 80 7
v J6 4SE5 -450 -490  4SES 450 1.0 2 v KQJ8 3NN7 720 1010 3NS7 720 7.0 1
¢ J87654 Dif: -30 NS:0 4HWS5 450 1.0 1 *J7 Dif: -100 NS:-9 3NN7 720 7.0 2
a Q4 IMP: -1 EW:-1 3NW5 -460 1.0 1 » 762 IMP: -3 EW:7 5DS6 620 9.0 3
s A5 » KQT64 5HE6 480 0.0 1 ||s KT852 s 73 5DN7 640 9.0 1
v AK72 v 9543 4SE6 -480 0.0 1 v 52 I v T7643
¢ Q93 . 4HW6 480 00 4 ||eQ + 98
& K765 & AT92 4HE6 -480 0.0 2 ||& AK543 & JT98
PIVEON ,J97 6HE6 -980 -10.0 1 ®PIVEN , A6
N ~~~~~ ¢QT8 N ~6~~2 ¢ A9
S ~~~~~ ¢ AKT2 S ~6 ~~ 2 ¢ AKT65432
E 6~654 aJ83 E~~~~~aQ
W 6~654 W ~~~~~
#3 » KQT 2DE-1100 Mean: 3NS7 520 8.0 1 ||#4 » KQ62 3HE-2200 Mean: 3NN3 600 10.0 1
v 94 3CS4130 170  3NS3 400 60 1 v A64 2CS4130 170  3HE-3 300 40 1
+ AB2 Dif: -30 NS:-2 3SE-2 200 1.0 1 ¢ 9765 Dif: 70 NS:1  3HE-2 200 1.0 1
» JT654 IMP: -1 EW:1 2NS4 180 00 1 » 95 IMP: 2 EW:1 4CS4 130 1.0 1
& J963 s 752 3CSs4 130 1.0 2 ||s T84 » J53 3CS4 130 1.0 1
v AKQ75 v J6 2NS3 150 1.0 1 [|v KQT3 + v J8752 2Ccs4 130 1.0 7
¢ 985 ¢ Q743 2Ccs4 130 1.0 1 [|e T82 ¢ AQ3 2HE-1 100 20 1
&3 & A987 3CS3 110 20 2 ||s KQ2 & T6 2Ccs3 110 20 1
PIVEeN ,A84 3CN3 110 2.0 1 POIVEN 4 A7
N 3~~~1 ¢T832 2DE-1 00 20 1(|N 43 ~42 99
S 3~~~1 +KJT 2CSs3 110 20 1 S 43 ~42 4KJH
E ~~~~~ aKQ2 2CSs2 90 20 1 E ~~~~~ & AJ8743
W ~~~~~ W ~~~~~
#5 # 653 3NS-3 -300 Mean: 3HS4 170 50 1 ||#6 # AT632 3SN-1-50 Mean: 3SN4 170 50 1
v AJ6542 3HS3140 -20  3HS3 140 40 2 v AT73 3SN3140 -30 3SN3 140 50 1
. Q2 Dif: -440 NS:-7  3HN3 140 40 1 ¢ T6 Dif: -190 Ns:-1 3DS3 110 40 1
A T6 IMP: -10 EW:-4 2HN3 140 40 1 » J9 IMP: -5 EW:-5 2DS3 110 40 1
s T2 & KQ97 4CW-1 50 20 1 ||s KJ8 475 4SN-1 50 1.0 1
v 87 v K93 4HS-1 100 20 3 ||v QJ964 —_ v K2 3SN-1 50 1.0 3
¢ 63 + KT87 4HN-1 100 20 1 ||e 4 ¢ 9852 4SN-2 100 -20 4
& AQJ9832 & 74 3HN-1 100 -20 1 ||& Q874 & AK653 2HW3 140 30 1
PIVEeN ,AJ4 2NW3 150 -40 1 PIVEN 4, QY4 4SXN-2 300 7.0 1
N ~121~ «QT 4HN-2 200 50 1||N ~3~32 ¢85
S ~121~ ¢AJ954 3NS-3 -300 7.0 1 S ~3~32 ¢ AKQJ73
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
#7 & A96 48S-1-100 Mean: 5SS5 650 80 1 ||#38 » Q54 3NW3 -400 Mean: 5DE-2 100 100 1
v QJB4 4SS4 620 310 4SS5 650 8.0 1 v Q7 4SE4 -420 -380 4SE4 420 1.0 1
. Dif: -720 NS:-9 4SS4 620 7.0 7 ¢ 9542 Dif: 20 NS:-1  3NW3 400 1.0 6
» KQ9865 IMP: -12 EW:-7 3SS4 170 40 1 » KT93 IMP: 1 EW:1 3NE3 400 1.0 2
» 8732 T 6SS-1 100 90 1 97 » AJT62 4SE5 450 20 1
v K962 + v T53 48S-1 100 9.0 2 ||v A9853 v KT 3NE5 460 20 1
+ KQ72 + AJ9654 6SXS-4 1100 -16.0 1 ||e AK6 + JT83 3NE4 430 20 1
aJ S & AT2 & J82 & A7 3NW6 490 3.0 1
®eveN L KQJ54 ®IveN L K83
N 4~~4~ A7 N ~~~~~ ¢J642
S 4~~3~ 4783 S ~~~~~ 4Q7
E ~4~~1 4743 E ~4453 aQ654
W ~4~~1 W ~4453
#9 » KT43 4NN5 460 Mean: 5NN5 460 50 1 ||#10 » 32 1NW1 -90 Mean: 3SW-1 100 60 1
v K3 4NN4 430 250 5HS5 450 50 1 v KT832 2SW-1100 -140  2SW-1 100 60 1
+ Q54 Dif: 30 NS:5 4NN5 460 50 2 * K8 Dif: -190 NS:2 1NWA1 90 20 2
» AK63 IMP: 1 EW:-5 4NN4 430 50 2 » AT74 IMP: -5 EW:-6 2SW2 410 1.0 2
a7 # J9862 4HN4 420 50 1 ||s AQ875 & K94 1NW2 120 1.0 1
v JT62 v 94 3NN5 460 50 1 ||e AJT7 + v 64 3SW3 140 00 2
¢ AJT983 *2 3NN4 430 50 1 ||e A4 ¢ QJT65 3SW4 470 1.0 1
& Q2 & T9875 6NN-1 50 7.0 2 ||a& J85 & 962 2SW5 200 20 2
PEVEN ,AQ5 5HN-1 50 7.0 1 POVEN L, JT6 1NW5 210 20 1
N ~~ 445 ¢AQ875 6NN-3 150 90 2 ||N 2~3~~ ¢ Q9 4SW4 620 -100 1
S ~~445 ¢K76 S 2~3~~ 49732
E ~~~~~ aldd E ~2~21 &KQ3
W ~~~~~ W ~2~21
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8 NS: Z=$HER BFBUEGHO) 13 9 NS: S5 E BRII#F(BAC) -9 14.80 : 5.20 Total VP: 80.24 Rank:
EW SREATR %ﬁg]@(ﬁﬁ@ 9 EW: 38X 38 MiEF(F0) -1 30 15 7
I
» 832 4HE6 -480 Mean: 2DXN-2  -300 5.0 1 » QJ94 6DS6 1370 Mean: 6DS6 1370 8.0 7
v J6 4HWS5 -450 -490  4SE5 450 1.0 2 v KQJ8 5DN7 640 1010 3NS7 720 7.0 1
¢ J87654 Dif: -30 NS:0 4HWS5 450 1.0 1 *J7 Dif: 730 NS:8 3NN7 720 7.0 2
a Q4 IMP: -1 EW:-1 3NW5 -460 1.0 1 » 762 IMP: 12 EW:9 5DS6 620 9.0 3
» KQT64 5HE6 480 00 1 s 73 5DN7 640 9.0 1
v AK72 v 9543 4SE6 -480 0.0 1 I v T7643
+ Q93 S 4HW6 480 0.0 4 ¢ 98
& K765 & AT92 4HE6 -480 0.0 2 & JT98
PIVEON ,J97 6HE6 -980 -10.0 1 ®N 4, A6
~~~~ 9 QT8 ~ 2 v A9
~ ~ ~ ~ ¢ AKT2 ~ 2 ¢ AKT65432
~654 aJ83 ~~ aQ
~654 ~ ~
» KQT 2NS4 180 Mean: 3NS7 520 8.0 1 » KQ62 4CS4 130 Mean: 3NN3 600 10.0 1
v 94 2NS3150 170  3NS3 400 60 1 v A64 2CS4130 170  3HE-3 300 40 1
+ AB2 Dif: 30 NS:0 3SE-2 200 1.0 1 ¢ 9765 Dif: 0 NS:-1 3HE-2 200 1.0 1
» JT654 IMP: 1 EW:1 2NS4 180 00 1 » 95 IMP: 0 EW:1 4CS4 130 1.0 1
& J963 s 752 3CS4 130 1.0 2 » J53 3CS4 130 1.0 1
v AKQ75 v J6 2NS3 150 1.0 1 + v J8752 2Ccs4 130 1.0 7
¢ 985 ¢ Q743 2Ccs4 130 1.0 1 ¢ AQ3 2HE-1 100 20 1
3 & A987 3CS3 110 20 2 & T6 2Ccs3 110 20 1
PIVEN LA84 3CN3 110 20 1 & A97
~~~1 ¢T832 2DE-1 100 20 1 v9
~~~1 ¢+ KIT 2Ccs3 110 20 1 * KJ4
~ ~ ~ ~ aKQ2 2cs2 90 20 1 » AJ8743
#» 653 3HN3 140 Mean: 3HS4 170 50 1 » AT632 4SXN-2 -300 Mean: 3SN4 170 50 1
v AJ6542 4HN-1-100 -20 3HS3 140 40 2 v AT73 4SN-2-100 -30  3SN3 140 50 1
. Q2 Dif: 240 NS:4 3HN3 140 40 1 ¢ T6 Dif: -200 NS:-7 3DS3 110 40 1
A T6 IMP: 6 EW:2 2HN3 140 40 1 » J9 IMP: -5 EW:2 2DS3 110 40 1
'y » KQ97 4CW-1 50 20 1 475 4SN-1 50 1.0 1
v v K93 4HS-1 100 20 3 —_ v K2 3SN-1 50 1.0 3
3 + KT87 4HN-1 100 20 1 ¢ 9852 4SN-2 100 -20 4
& AQJ9832 & 74 3HN-1 100 20 1 & AK653 2HW3 140 30 1
¢VeN ,AJ84 2NW3 150 -40 1 ®N 4, Q94 4SXN-2 -300 7.0 1
N 121~ oQT 4HN-2 200 50 1 32 ¢85
S 121~ ¢ AJ954 3NS-3 -300 7.0 1 3 2 ¢ AKQJ73
E ~~~2 aK5 ~~ aT2
w ~~~2 ~ ~
& A96 4S84 620 Mean: 5SS5 650 8.0 1 » Q54 3NE5 -460 Mean: 5DE-2 100 100 1
v QJB4 4SS4 620 310 4SS5 650 8.0 1 v Q7 3NE3 -400 -380 4SE4 420 1.0 1
. Dif: 0 NS:7 4SS4 620 7.0 7 ¢ 9542 Dif: -60 NS:-2 3NW3 400 1.0 6
» KQ9865 IMP: 0 EW:-7 3SS4 170 40 1 » KT93 IMP: -2 EW:1 3NE3 400 1.0 2
» 8732 T 6SS-1 100 90 1 & AJT62 4SE5 450 20 1
v K962 + v T53 4sS4 100 90 2 v KT 3NE5S 460 20 1
+ KQ72 + AJ9654 6SXS-4  -1100 -16.0 1 + JT83 3NE4 430 20 1
J S & AT2 & A7 3NW6 490 3.0 1
*¢VSN L, KQJS54 » K83
~~4~ oA7 v J642
~~3~ 4T83 ¢ Q7
4 ~~1 a743 » Q654
4 ~~1
» KT43 5HS5 450 Mean: 5NN5 460 50 1 » 32 3SW4 -170 Mean: 3SW-1 100 60 1
v K3 6NN-1-50 250 5HS5 450 50 1 v KT832 3SW-1100 -140 2SW-1 100 60 1
+ Q54 Dif: 500 NS:5 4NN5 460 50 2 + K8 Dif: -270 NS:-1  1NW1 90 20 2
» AK63 IMP: 11 EW:7 4NN4 430 50 2 » AT74 IMP: -7 EW:-6 2SW2 410 1.0 2
a7 # J9862 4HN4 420 50 1 & K94 1NW2 120 1.0 1
v JT62 v 94 3NN5 460 50 1 + v 64 3SW3 140 00 2
¢ AJT983 *2 3NN4 430 50 1 ¢ QJT65 3SW4 470 1.0 1
& Q2 & T9875 6NN-1 50 7.0 2 & 962 2SW5 200 20 2
PEVEN ,AQ5 5HN-1 50 7.0 1 ®N ,JT6 1NW5 210 20 1
N ~~ 445 ¢ AQ875 6NN-3 150 9.0 2 ~ ~ » Q95 4SW4 620 -100 1
S ~~445 ¢K76 ~ ~ ¢ 9732
E ~~~~~ aJ4 21 & KQ3
W ~~~~~ 21




e V3 % jrir- “ _ 8 8
8 11431;*19_19?]7}%%%% &2 =>R
9 NS: HEE ]&iﬁﬁ(]%ﬁ@ -9 8 NS: $§E =B EBE#E(E%O) 13 P:| 5.20 : 14.80| Total VP: 115.55 Rank:
EW ISV 7}7[:%?(550) -13 EW: R5hE 151EE(BAC) 9 IMP:| 15 30 1
I
#1 Py 832 4HE6 480 Mean: 2DXN-2 2300 50 1 |[|#2 & QJ94 6DS6 -1370 Mean: 6DS6 1370 80 7
v J6 4HW5 450 -490  4SES 450 1.0 2 v KQJ8 5DN7 -640 1010 3NS7 720 7.0 1
¢ J87654 Dif: 30 NS:1  4HW5 450 1.0 1 *J7 Dif: -730 NS:-9 3NN7 720 7.0 2
a Q4 IMP: 1 EW:0 3NW5 -460 1.0 1 » 762 IMP: -12 EW:-8 5DS6 620 9.0 3
s A5 » KQT64 5HE6 480 0.0 1 ||s KT852 s 73 5DN7 640 9.0 1
v AK72 v 9543 4SE6 -480 0.0 1 v 52 I v T7643
¢ Q93 . 4HW6 480 00 4 ||eQ + 98
& K765 & AT92 4HE6 -480 0.0 2 ||& AK543 & JT98
PIVEON ,J97 6HE6 -980 -10.0 1 ®PIVEN , A6
N ~~~~~ ¢QT8 N ~6~~2 ¢ A9
S ~~~~~ ¢ AKT2 S ~6 ~~ 2 ¢ AKT65432
E 6~654 aJ83 E~~~~~aQ
W 6~654 W ~~~~~
#3 » KQT 2NS4 -180 Mean: 3NS7 520 8.0 1 ||#4 » KQ62 4CS4 -130 Mean: 3NN3 600 10.0 1
v 94 2NS3 -150 170  3NS3 400 60 1 v A64 2CS4-130 170  3HE-3 300 40 1
+ AB2 Dif: -30 NS:-1 3SE-2 200 1.0 1 ¢ 9765 Dif: 0 NS:-1 3HE-2 200 1.0 1
» JT654 IMP: -1 EW:0 2NS4 180 00 1 » 95 IMP: 0 EW:1 4CS4 130 1.0 1
& J963 a 752 3CSs4 130 1.0 2 ||a T84 & J53 3CS4 130 1.0 1
v AKQ75 v J6 2NS3 150 1.0 1 [|v KQT3 + v J8752 2Ccs4 130 1.0 7
¢ 985 ¢ Q743 2Ccs4 130 1.0 1 ||e T82 ¢ AQ3 2HE-1 100 20 1
&3 & A987 3CS3 110 20 2 ||s KQ2 & T6 2CS3 110 20 1
PIVEeN ,A84 3CN3 110 2.0 1 POIVEN 4 A7
N 3~~~1 ¢T832 2DE-1 00 20 1(|N 43 ~42 99
S 3~~~1 +KJT 2CSs3 110 20 1 S 43 ~42 4KJH
E ~~~~~ aKQ2 2CSs2 90 20 1 E ~~~~~ & AJ8743
W ~~~~~ W ~~~~~
#5 & 653 3HN3 -140 Mean: 3HS4 170 50 1 #6 & AT632 4SXN-2 300 Mean: 3SN4 170 50 1
v AJ6542 4HN-1100 -20  3HS3 140 40 2 v AT73 4SN-2100 -30  3SN3 140 50 1
* Q2 Dif: -240 NS:-2 3HN3 140 40 1 ¢ T6 Dif: 200 NsS:-2 3DS3 110 40 1
A T6 IMP: -6 EW:-4 2HN3 140 40 1 » J9 IMP: 5 EW:7 2DS3 110 40 1
a T2 » KQ97 4CW-1 50 20 1 ||s KJ8 475 4SN-1 50 1.0 1
v 87 v K93 4HS-1 100 20 3 ||v QJ964 —_— v K2 3SN-1 50 1.0 3
¢ 63 + KT87 4HN-1 100 20 1 ||e 4 + 9852 4SN-2 100 -20 4
& AQJ9832 & 74 3HN-1 100 -20 1 ||& Q874 & AK653 2HW3 140 30 1
PIVEeN ,AJ4 2NW3 150 -40 1 PIVEN 4, QY4 4SXN-2 300 7.0 1
N ~121~ «QT 4HN-2 200 50 1||N ~3~32 ¢85
S ~121~ ¢AJ954 3NS-3 -300 7.0 1 S ~3~32 ¢ AKQJ73
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
#7 & A96 4S5S4 -620 Mean: 5SS5 650 80 1 ||#38 » Q54 3NE5 460 Mean: 5DE-2 100 100 1
v QJB4 4SS4 -620 310 4SS5 650 8.0 1 v Q7 3NE3 400 -380 4SE4 420 1.0 1
. Dif: 0 NS:7 4SS4 620 7.0 7 ¢ 9542 Dif: 60 NS:-1  3NW3 400 1.0 6
» KQ9865 IMP: 0 EW:-7 3SS4 170 40 1 » KT93 IMP: 2 EW:2 3NE3 400 1.0 2
» 8732 T 6SS-1 100 -9.0 1 97 » AJT62 4SE5 450 20 1
v K962 + v T53 48S-1 -100 9.0 2 ||v A9853 v KT 3NE5 460 20 1
+ KQ72 + AJ9654 6SXS-4 1100 -16.0 1 ||e AK6 ¢ JT83 3NE4 430 20 1
aJ S & AT2 & J82 & A7 3NW6 490 3.0 1
®eveN L KQJ54 ®IveN L K83
N 4~~4~ A7 N ~~~~~ ¢ J642
S 4~~3~ 4783 S ~~~~~ 4Q7
E ~4~~1 4743 E ~4453 aQ654
W ~4~~1 W ~4453
#9 » KT43 5HS5 -450 Mean: 5NN5 460 50 1 ||#10 » 32 3SW4 170 Mean: 3SW-1 100 60 1
v K3 6NN-150 250 5HS5 450 50 1 v KT832 3SW-1-100 -140 2SW-1 100 60 1
+ Q54 Dif: -500 NS:-7 4NN5 460 50 2 * K8 Dif: 270 NS:6 1NW1 90 20 2
» AK63 IMP: -11 EW:-5 4NN4 430 50 2 » AT74 IMP: 7 EW:1  2SW2 410 1.0 2
a7 # J9862 4HN4 420 50 1 ||s AQ875 » K94 1NW2 120 1.0 1
v JT62 v 94 3NN5 460 50 1 ||e AJT7 + v 64 3SW3 140 00 2
¢ AJT983 *2 3NN4 430 50 1 ||e A4 ¢ QJT65 3SW4 470 1.0 1
& Q2 & T9875 6NN-1 50 7.0 2 ||a& J85 & 962 2SW5 200 20 2
PEVEN ,AQ5 5HN-1 50 7.0 1 POVEN L, JT6 1NW5 210 20 1
N ~~ 445 ¢AQ875 6NN-3 150 90 2 ||N 2~3~~ ¢ Q9 4SW4 620 -100 1
S ~~445 ¢K76 S 2~3~~ 49732
E ~~~~~ aJ4 E ~2~21 &KQ3
W ~~~~~ W ~2~21




lMﬁﬁﬂliﬂﬁﬁﬁ%

\\‘

==> R8

#1:9 &

Bi(115.55) #2: 3 :H:’ZZ%%—J(IW 74) #3: 6 LLIMEE®7.3)

1 O NS: B SEEEAC) -2 6 NS: 81222 S4F(BA0) -1 1218 : 7.82 Total VP: 80.02 Rank:
EW L=X-35 ﬂﬁﬁ(ﬁﬁo) 13 EW: iti&4 BRIERE(BAC) 2 IMP:| 26 20 8
E—
#1 Py 832 3NW5 460 Mean: 2DXN-2 2300 50 1 |[|#2 & QJ94 5DS6 -620 Mean: 6DS6 1370 80 7
v J6 4HW6 480 -490  4SES 450 1.0 2 v KQJ8 6DS6 -1370 1010  3NS7 720 7.0 1
¢ J87654 Dif: -20 NS:0 4HW5 450 1.0 1 *J7 Dif: 750 NS:8 3NN7 720 7.0 2
a Q4 IMP: -1 EW:-1 3NW5 -460 1.0 1 » 762 IMP: 13 EW:9 5DS6 620 9.0 3
s A5 » KQT64 5HE6 480 0.0 1 ||s KT852 s 73 5DN7 640 9.0 1
v AK72 v 9543 4SE6 -480 0.0 1 v 52 I v T7643
¢ Q93 . 4HW6 480 00 4 ||eQ + 98
& K765 & AT92 4HE6 -480 0.0 2 ||& AK543 & JT98
PIVEON ,J97 6HE6 -980 -10.0 1 ®PIVEN , A6
N ~~~~~ ¢QT8 N ~6~~2 ¢ A9
S ~~~~~ ¢ AKT2 S ~6 ~~ 2 ¢ AKT65432
E 6~654 aJ83 E~~~~~aQ
W 6~654 W ~~~~~
#3 » KQT 2CS2 -90 Mean: 3NS7 520 8.0 1 ||#4 » KQ62 3CS4 -130 Mean: 3NN3 600 10.0 1
v 94 2CS3 -110 170  3NS3 400 60 1 v A64 2CS4-130 170  3HE-3 300 40 1
+ AB2 Dif: 20 NS:-2 3SE-2 200 1.0 1 ¢ 9765 Dif: 0 NS:-1 3HE-2 200 1.0 1
» JT654 IMP: 1 EW:2 2NS4 180 00 1 » 95 IMP: 0 EW:1 4CS4 130 1.0 1
& J963 a 752 3CSs4 130 1.0 2 ||a T84 & J53 3CS4 130 1.0 1
v AKQ75 v J6 2NS3 150 1.0 1 [|v KQT3 + v J8752 2Ccs4 130 1.0 7
¢ 985 ¢ Q743 2Ccs4 130 1.0 1 ||e T82 ¢ AQ3 2HE-1 100 20 1
&3 & A987 3CS3 110 20 2 ||s KQ2 & T6 2CS3 110 20 1
PIVEeN ,A84 3CN3 110 2.0 1 POIVEN 4 A7
N 3~~~1 ¢T832 2DE-1 00 20 1(|N 43 ~42 99
S 3~~~1 +KJT 2CSs3 110 20 1 S 43 ~42 4KJH
E ~~~~~ aKQ2 2CSs2 90 20 1 E ~~~~~ & AJ8743
W ~~~~~ W ~~~~~
#5 # 653 4HS-1100 Mean: 3HS4 170 50 1 ||#6 # AT632 3DS3 -110 Mean: 3SN4 170 50 1
v AJ6542 4HS-1100 -20  3HS3 140 40 2 v AT73 4SN-2100 -30  3SN3 140 50 1
* Q2 Dif: 0 NS:-2 3HN3 140 40 1 ¢ T6 Dif: 210 NS:-2 3DS3 110 40 1
A T6 IMP: 0 EW:2 2HN3 140 40 1 » J9 IMP: -5 EW:-4 2DS3 110 40 1
a T2 » KQ97 4CW-1 50 20 1 ||s KJ8 475 4SN-1 50 1.0 1
v 87 v K93 4HS-1 100 20 3 ||v QJ964 —_— v K2 3SN-1 50 1.0 3
¢ 63 + KT87 4HN-1 100 20 1 ||e 4 + 9852 4SN-2 100 -20 4
& AQJ9832 & 74 3HN-1 100 -20 1 ||& Q874 & AK653 2HW3 140 30 1
PIVEeN ,AJ4 2NW3 150 -40 1 PIVEN 4, QY4 4SXN-2 300 7.0 1
N ~121~ «QT 4HN-2 200 50 1||N ~3~32 ¢85
S ~121~ ¢AJ954 3NS-3 -300 7.0 1 S ~3~32 ¢ AKQJ73
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
#7 & A96 45S-1 100 Mean: 5SS5 650 80 1 ||#38 » Q54 3NW3 400 Mean: 5DE-2 100 100 1
v QJB4 4SS4 -620 310 4SS5 650 8.0 1 v Q7 3NW3 400 -380 4SE4 420 1.0 1
. Dif: 720 NS:7 4SS4 620 7.0 7 ¢ 9542 Dif: 0 NS:-1  3NW3 400 1.0 6
» KQ9865 IMP: 12 EW:9 3SS4 170 40 1 » KT93 IMP: 0 EW:1 3NE3 400 1.0 2
» 8732 T 6SS-1 100 -9.0 1 97 » AJT62 4SE5 450 20 1
v K962 + v T53 48S-1 -100 9.0 2 ||v A9853 v KT 3NE5 460 20 1
+ KQ72 + AJ9654 6SXS-4 1100 -16.0 1 ||e AK6 ¢ JT83 3NE4 430 20 1
aJ S & AT2 & J82 & A7 3NW6 490 3.0 1
®eveN L KQJ54 ®IveN L K83
N 4~~4~ A7 N ~~~~~ ¢ J642
S 4~~3~ 4783 S ~~~~~ 4Q7
E ~4~~1 4743 E ~4453 aQ654
W ~4~~1 W ~4453
#9 » KT43 3NN5 -460 Mean: 5NN5 460 50 1 ||#10 » 32 2SW2 110 Mean: 3SW-1 100 60 1
v K3 5HN-150 250 5HS5 450 50 1 v KT832 2SW5 200 -140  2SW-1 100 60 1
+ Q54 Dif: -510 NS:-7 4NN5 460 50 2 + K8 Dif: -90 NS:-2 1NW1 90 20 2
» AK63 IMP: -11 EW:-5 4NN4 430 50 2 » AT74 IMP: -3 EW:-1 2SW2 410 1.0 2
a7 # J9862 4HN4 420 50 1 ||s AQ875 » K94 1NW2 120 1.0 1
v JT62 v 94 3NN5 460 50 1 ||e AJT7 + v 64 3SW3 140 00 2
¢ AJT983 *2 3NN4 430 50 1 ||e A4 ¢ QJT65 3SW4 470 1.0 1
& Q2 & T9875 6NN-1 50 7.0 2 ||a& J85 & 962 2SW5 200 20 2
PEVEN ,AQ5 5HN-1 50 7.0 1 POVEN L, JT6 1NW5 210 20 1
N ~~ 445 ¢AQ875 6NN-3 150 90 2 ||N 2~3~~ ¢ Q9 4SW4 620 -100 1
S ~~445 ¢K76 S 2~3~~ 49732
E ~~~~~ aJ4 E ~2~21 &KQ3
W ~~~~~ W ~2~21




e V3 % jrir- “ _ 8 8
8 11431;*19_19?]7}%%%% &2 =>R
1 1 NS: ¥30& gﬁﬁﬁ(ﬁﬁg 11 1 NS: Bﬁy‘c %ﬁE(EﬁO) 17 P:| 8.50 : 11.50| Total VP: 66.78 Rank:
EW: BEEESZ JERAR(BEO) -17 EW: % a8 Z=HE(EAC) 1 IMP:| 12 16 12
— . I
#1 832 4SE5 450 Mean: 2DXN-2 2300 50 1 |[|#2 & QJ94 6DS6 -1370 Mean: 6DS6 1370 80 7
v J6 4HW6 480 -490  4SES 450 1.0 2 v KQJ8 6DS6 -1370 1010  3NS7 720 7.0 1
¢ J87654 Dif: -30 NS:0 4HWS5 450 1.0 1 *J7 Dif: 0 NS:8 3NN7 720 7.0 2
a Q4 IMP: -1 EW:-1 3NW5 -460 1.0 1 » 762 IMP: 0 EW:-8 5DS6 620 9.0 3
s A5 » KQT64 5HE6 480 0.0 1 ||s KT852 s 73 5DN7 640 9.0 1
v AK72 v 9543 4SE6 -480 0.0 1 v 52 I v T7643
¢ Q93 . 4HW6 480 00 4 ||eQ + 98
& K765 & AT92 4HE6 -480 0.0 2 ||& AK543 & JT98
PIVEON ,J97 6HE6 -980 -10.0 1 ®PIVEN , A6
N ~~~~~ QT8 N ~6~~2 vA9
S ~~~~~ ¢ AKT2 S ~6 ~~ 2 ¢ AKT65432
E 6~654 aJ83 E~~~~~aQ
W 6~654 W ~~~~~
#3 » KQT 3NS3 -400 Mean: 3NS7 520 8.0 1 ||#4 » KQ62 2HE-1 -100 Mean: 3NN3 600 10.0 1
v 94 3CS3-110 170  3NS3 400 60 1 v A64 2CS4-130 170  3HE-3 300 40 1
+ AB2 Dif: -290 NS:-2 3SE-2 200 1.0 1 ¢ 9765 Dif: 30 NS:-1 3HE-2 200 1.0 1
» JT654 IMP: -7 EW:-6 2NS4 180 00 1 » 95 IMP: 1 EW:2 4CS4 130 1.0 1
& J963 s 752 3CSs4 130 1.0 2 ||a T84 & J53 3CS4 130 1.0 1
v AKQ75 v J6 2NS3 150 1.0 1 [|v KQT3 + v J8752 2Ccs4 130 1.0 7
¢ 985 ¢ Q743 2Ccs4 130 1.0 1 [|e T82 ¢ AQ3 2HE-1 100 20 1
&3 & A987 3CS3 110 20 2 ||s KQ2 & T6 2CS3 110 20 1
PIVEeN ,A84 3CN3 110 2.0 1 POIVEN 4 A7
N 3~~~1 ¢T832 2DE-1 00 20 1(|N 43 ~42 99
S 3~~~1 +KJT 2CSs3 110 20 1 S 43 ~42 4KJH
E ~~~~~ aKQ2 2CSs2 90 20 1 E ~~~~~ & AJ8743
W ~~~~~ W ~~~~~
#5 # 653 3HS3 -140 Mean: 3HS4 170 50 1 ||#6 » AT632 4SN-1 50 Mean: 3SN4 170 50 1
v AJ6542 4HS-1100 -20  3HS3 140 40 2 v AT73 4SN-2100 -30  3SN3 140 50 1
. Q2 Dif: -240 NS:-2 3HN3 140 40 1 ¢ T6 Dif: -50 NS:-2 3DS3 110 40 1
A T6 IMP: -6 EW:-4 2HN3 140 40 1 » J9 IMP: -2 EW:1 2DS3 110 40 1
a T2 » KQ97 4CW-1 50 20 1 ||s KJ8 475 4SN-1 50 1.0 1
v 87 v K93 4HS-1 100 20 3 ||v QJ964 —_— v K2 3SN-1 50 1.0 3
¢ 63 + KT87 4HN-1 100 20 1 ||e 4 + 9852 4SN-2 100 -20 4
& AQJ9832 & 74 3HN-1 100 -20 1 ||& Q874 & AK653 2HW3 140 30 1
PIVEeN ,AJ4 2NW3 150 -40 1 PIVEN 4, QY4 4SXN-2 300 7.0 1
N ~121~ «QT 4HN-2 200 50 1||N ~3~32 ¢85
S ~121~ ¢AJ954 3NS-3 -300 7.0 1 S ~3~32 ¢ AKQJ73
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
#7 & A96 4S5S4 -620 Mean: 5SS5 650 80 1 ||#38 » Q54 3NE3 400 Mean: 5DE-2 100 100 1
v QJB4 4SS5 -650 310 4SS5 650 8.0 1 v Q7 3NW3 400 -380 4SE4 420 1.0 1
. Dif: 30 NS:8 4SS4 620 7.0 7 ¢ 9542 Dif: 0 NS:-1  3NW3 400 1.0 6
» KQ9865 IMP: 1 EW:-7 3SS4 170 40 1 » KT93 IMP: 0 EW:1 3NE3 400 1.0 2
» 8732 T 6SS-1 100 90 1 97 » AJT62 4SE5 450 20 1
v K962 + v T53 48S-1 -100 9.0 2 ||v A9853 v KT 3NE5 460 20 1
+ KQ72 + AJ9654 6SXS-4 1100 -16.0 1 ||e AK6 + JT83 3NE4 430 20 1
aJ S & AT2 & J82 & A7 3NW6 490 3.0 1
®eveN L KQJ54 ®IveN L K83
N 4~~4~ A7 N ~~~~~ ¢ J642
S 4~~3~ 4783 S ~~~~~ 4Q7
E ~4~~1 a743 E ~4453 Q654
W ~4~~1 W ~4453
#9 » KT43 4HN4 -420 Mean: 5NN5 460 50 1 ||#10 » 32 4SW4 620 Mean: 3SW-1 100 60 1
v K3 4NN5 -460 250  5HS5 450 50 1 v KT832 2SW5 200 -140  2SW-1 100 60 1
+ Q54 Dif: 40 NS:5 4NN5 460 50 2 * K8 Dif: 420 NS:-2 1NW1 90 20 2
» AK63 IMP: 1 EW:-5 4NN4 430 50 2 » AT74 IMP: 9 EW:10 2SwW2 410 1.0 2
a7 # J9862 4HN4 420 50 1 ||s AQ875 » K94 1NW2 120 1.0 1
v JT62 v 94 3NN5 460 50 1 ||e AJT7 + v 64 3SW3 140 00 2
¢ AJT983 *2 3NN4 430 50 1 ||e A4 ¢ QJT65 3SW4 470 1.0 1
& Q2 & T9875 6NN-1 50 7.0 2 ||a& J85 & 962 2SW5 200 20 2
PEVEN ,AQ5 5HN-1 50 7.0 1 POVEN L, JT6 1NW5 210 20 1
N ~~ 445 ¢AQ875 6NN-3 150 90 2 ||N 2~3~~ ¢ Q9 4SW4 620 -100 1
S ~~445 ¢K76 S 2~3~~ 49732
E ~~~~~ aJ4 E ~2~21 &KQ3
W ~~~~~ W ~2~21
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==> R8

#1:9 &

Bi(115.55) #2: 3 :H:’ZZ%%—J(IW 74) #3: 6 LLYEE®7.3)

1 2 NS: B R &R EEC) -1 4 NS: 2% MEFR(BO) 1 15.75 : 4.25 | Total VP: 75.07 Rank:
EW BEISEE M {é(F‘ﬁO) 19 EW: &% BEIEFEC)1 IMP:| 39 20 9
I
#1 Py 832 6HE6 980 Mean: 2DXN-2 2300 50 1 |[|#2 & QJ94 3NS7 -720 Mean: 6DS6 1370 80 7
v J6 5HE6 480 -490  4SE5 450 1.0 2 v KQJ8 3NN7 -720 1010  3NS7 720 7.0 1
¢ J87654 Dif: 500 NS:0 4HWS5 450 1.0 1 *J7 Dif: 0 NS:-7  3NN7 720 7.0 2
» Q4 IMP: 11 EW:10 3NW5 460 1.0 1 » 762 IMP: 0 EW:7 5DS6 620 9.0 3
s A5 » KQT64 5HE6 480 0.0 1 ||s KT852 s 73 5DN7 640 9.0 1
v AK72 v 9543 4SE6 -480 0.0 1 v 52 I v T7643
¢ Q93 . 4HW6 480 00 4 (|leQ + 98
& K765 & AT92 4HE6 -480 0.0 2 ||& AK543 & JT98
PIVEON ,J97 6HE6 -980 -10.0 1 ®PIVEN , A6
N ~~~~~ ¢QT8 N ~6~~2 ¢A9
S ~~~~~ ¢ AKT2 S ~6 ~~ 2 ¢ AKT65432
E 6~654 aJ83 E~~~~~aQ
W 6~654 W ~~~~~
#3 » KQT 3NS7 -520 Mean: 3NS7 520 80 1 ||#4 » KQ62 2CS3 -110 Mean: 3NN3 600 10.0 1
v 94 3CS4-130 170  3NS3 400 60 1 v A64 3NN3 -600 170  3HE-3 300 40 1
+ AB2 Dif: -390 NS:-1 3SE-2 200 1.0 1 ¢ 9765 Dif: 490 NS:10 3HE-2 200 1.0 1
» JT654 IMP: -9 EW:-8 2NS4 180 00 1 » 95 IMP: 10 EW:2 4CS4 130 1.0 1
& J963 s 752 3CSs4 130 1.0 2 ||s T84 » J53 3CS4 130 1.0 1
v AKQ75 v J6 2NS3 150 1.0 1 [|v KQT3 + v J8752 2Ccs4 130 1.0 7
¢ 985 ¢ Q743 2Ccs4 130 1.0 1 [|e T82 ¢ AQ3 2HE-1 100 20 1
a3 & A987 3CS3 110 20 2 ||s KQ2 & T6 2Ccs3 110 20 1
PIVEeN ,A84 3CN3 110 2.0 1 POIVEN 4 A7
N 3~~~1 ¢T832 2DE-1 00 20 1(|N 43 ~42 o9
S 3~~~1 +KJT 2CSs3 110 20 1 S 43 ~42 ¢KJH
E ~~~~~ aKQ2 2CSs2 90 20 1 E ~~~~~ & AJ8743
W ~~~~~ W ~~~~~
#5 # 653 2NW3 150 Mean: 3HS4 170 50 1 ||#6 » AT632 2HW3 140 Mean: 3SN4 170 50 1
v AJ6542 3HN-1100 -20  3HS3 140 40 2 v AT73 3SN-150 -30 3SN3 140 50 1
. Q2 Dif: 50 NS:-2 3HN3 140 40 1 ¢ T6 Dif: 90 Ns:-1 3DS3 110 40 1
A T6 IMP: 2 EW:4 2HN3 140 40 1 » J9 IMP: 3 EW:3 2DS3 110 40 1
s T2 & KQ97 4CW-1 50 20 1 ||s KJ8 475 4SN-1 50 1.0 1
v 87 v K93 4HS-1 100 20 3 ||v QJ964 —_ v K2 3SN-1 50 1.0 3
¢ 63 + KT87 4HN-1 100 20 1 ||e 4 ¢ 9852 4SN-2 100 -20 4
& AQJ9832 & 74 3HN-1 100 -20 1 ||& Q874 & AK653 2HW3 140 30 1
PIVEeN ,AJ4 2NW3 150 -40 1 PIVEN 4, QY4 4SXN-2 300 7.0 1
N ~121~ «QT 4HN-2 200 50 1[N ~3~32 ¢85
S ~121~ ¢AJ954 3NS-3 -300 7.0 1 S ~3~32 ¢ AKQJ73
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
#7 & A96 5SS5 -650 Mean: 5SS5 650 80 1 ||#38 » Q54 3NW6 490 Mean: 5DE-2 100 100 1
v QJB4 3SS4 -170 310 4SS5 650 8.0 1 v Q7 3NW3 400 -380 4SE4 420 1.0 1
. Dif: -480 NS:-4 4SS4 620 7.0 7 ¢ 9542 Dif: 90 NS:-1  3NW3 400 1.0 6
» KQ9865 IMP: -10 EW:-8 3SS4 170 40 1 » KT93 IMP: 3 EW:3 3NE3 400 1.0 2
» 8732 T 6SS-1 100 90 1 97 » AJT62 4SE5 450 20 1
v K962 + v T53 48S-1 100 9.0 2 ||v A9853 v KT 3NE5 460 20 1
+ KQ72 + AJ9654 6SXS-4 1100 -16.0 1 ||e AK6 + JT83 3NE4 430 20 1
aJ S & AT2 & J82 & A7 3NW6 490 3.0 1
®eveN L KQJ54 ®IveN L K83
N 4~~4~ A7 N ~~~~~ ¢J642
S 4~~3~ 4783 S ~~~~~ 4Q7
E ~4~~1 a743 E ~4453 Q654
W ~4~~1 W ~4453
#9 » KT43 6NN-1 50 Mean: 5NN5 460 50 1 [|#10 » 32 1NW2 120 Mean: 3SW-1 100 60 1
v K3 4NN4 -430 250  5HS5 450 50 1 v KT832 3SW3 140 -140  2SW-1 100 60 1
+ Q54 Dif: 480 NS:5 4NN5 460 50 2 + K8 Dif: 20 NS:0 1NWA1 90 20 2
» AK63 IMP: 10 EW:7 4NN4 430 50 2 » AT74 IMP: -1 EW:-1 2SW2 410 1.0 2
a7 # J9862 4HN4 420 50 1 ||s AQ875 & K94 1NW2 120 1.0 1
v JT62 v 94 3NN5 460 50 1 ||e AJ7 + v 64 3SW3 140 00 2
¢ AJT983 *2 3NN4 430 50 1 ||e A4 ¢ QJT65 3SW4 470 1.0 1
& Q2 & T9875 6NN-1 50 7.0 2 ||& J85 & 962 2SW5 200 20 2
PEVEN ,AQ5 5HN-1 50 7.0 1 POVEN L, JT6 1NW5 210 20 1
N ~~ 445 ¢AQ875 6NN-3 150 90 2 ||N 2~3~~ ¢ Q9 4SW4 620 -100 1
S ~~445 ¢K76 S 2~3~~ 49732
E ~~~~~ aldd E ~2~21 &KQ3
W ~~~~~ W ~2~21




e V3 % jrir- _ 8
8 11434;*1 _?:W?}%’ﬁm% & ==> R8
1 3 NS: #R5R gg%;c(]%qc) 18 7 NS: Radihike RYRN Sunn P:/18.30 : 1.70 | Total VP: 80.76 Rank:
EW: #28 Fx%EH0) 21 EW: Alan SIA Diana SUN( IMP:| 37 : 4 6
— E—
#1 832 4HWG6 480 Mean: 2DXN-2 2300 50 1 |[|#2 & QJ94 5DS6 -620 Mean: 6DS6 1370 80 7
v J6 4SE5 450 -490  4SES 450 1.0 2 v KQJ8 3NN7 -720 1010 3NS7 720 7.0 1
¢ J87654 Dif: 30 NS:1  4HW5 450 1.0 1 *J7 Dif: 100 NS:-7 3NN7 720 7.0 2
a Q4 IMP: 1 EW:0 3NW5 -460 1.0 1 » 762 IMP: 3 EW:9 5DS6 620 9.0 3
s A5 » KQT64 5HE6 480 0.0 1 ||s KT852 s 73 5DN7 640 9.0 1
v AK72 v 9543 4SE6 -480 0.0 1 v 52 I v T7643
¢ Q93 . 4HW6 480 00 4 ||eQ + 98
& K765 & AT92 4HE6 -480 0.0 2 ||& AK543 & JT98
PIVEON ,J97 6HE6 -980 -10.0 1 ®PIVEN , A6
N ~~~~~ ¢QT8 N ~6~~2 ¢ A9
S ~~~~~ ¢ AKT2 S ~6 ~~ 2 ¢ AKT65432
E 6~654 aJ83 E~~~~~aQ
W 6~654 W ~~~~~
#3 » KQT 2DE-1-100 Mean: 3NS7 520 8.0 1 ||#4 » KQ62 3HE-2 -200 Mean: 3NN3 600 10.0 1
v 94 3CS4-130 170  3NS3 400 60 1 v A64 2CS4-130 170  3HE-3 300 40 1
+ AB2 Dif: 30 NS:-1 3SE-2 200 1.0 1 ¢ 9765 Dif: -70 NS:-1 3HE-2 200 1.0 1
» JT654 IMP: 1 EW:2 2NS4 180 00 1 » 95 IMP: -2 EW:-1 4CS4 130 1.0 1
& J963 s 752 3CSs4 130 1.0 2 ||a T84 & J53 3CS4 130 1.0 1
v AKQ75 v J6 2NS3 150 1.0 1 [|v KQT3 + v J8752 2Ccs4 130 1.0 7
¢ 985 ¢ Q743 2Ccs4 130 1.0 1 [|e T82 ¢ AQ3 2HE-1 100 20 1
&3 & A987 3CS3 110 20 2 ||s KQ2 & T6 2CS3 110 20 1
PIVEeN ,A84 3CN3 110 2.0 1 POIVEN 4 A7
N 3~~~1 ¢T832 2DE-1 00 20 1(|N 43 ~42 99
S 3~~~1 +KJT 2CSs3 110 20 1 S 43 ~42 4KJH
E ~~~~~ aKQ2 2CSs2 90 20 1 E ~~~~~ &AJ8743
W ~~~~~ W ~~~~~
#5 # 653 3NS-3 300 Mean: 3HS4 170 50 1 ||#6 # AT632 3SN-1 50 Mean: 3SN4 170 50 1
v AJ6542 3HS3 140 -20  3HS3 140 40 2 v AT73 3SN3 -140 -30  3SN3 140 50 1
* Q2 Dif: 440 NS:4 3HN3 140 40 1 ¢ T6 Dif: 190 NS:5 3DS3 110 40 1
A T6 IMP: 10 EW:7 2HN3 140 40 1 » J9 IMP: 5 EW:1 2DS3 110 40 1
a T2 » KQ97 4CW-1 50 20 1 ||s KJ8 475 4SN-1 50 1.0 1
v 87 v K93 4HS-1 100 20 3 ||v QJ964 —_— v K2 3SN-1 50 1.0 3
¢ 63 + KT87 4HN-1 100 20 1 ||e 4 + 9852 4SN-2 100 -20 4
& AQJ9832 & 74 3HN-1 100 -20 1 ||& Q874 & AK653 2HW3 140 30 1
PIVEeN ,AJ4 2NW3 150 -40 1 PEVEN 4, Q94 4SXN-2 300 7.0 1
N ~121~ «QT 4HN-2 200 50 1||N ~3~32 ¢85
S ~121~ ¢AJ954 3NS-3 -300 7.0 1 S ~3~32 ¢ AKQJ73
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
#7 & A96 45S-1 100 Mean: 5SS5 650 80 1 ||#38 » Q54 3NW3 400 Mean: 5DE-2 100 100 1
v QJB4 4SS4 -620 310 4SS5 650 8.0 1 v Q7 4SE4 420 -380 4SE4 420 1.0 1
. Dif: 720 NS:7 4SS4 620 7.0 7 ¢ 9542 Dif: 20 NS:-1  3NW3 400 1.0 6
» KQ9865 IMP: 12 EW:9 3SS4 170 40 1 » KT93 IMP: -1 EW:1 3NE3 400 1.0 2
» 8732 T 6SS-1 100 90 1 97 » AJT62 4SE5 450 20 1
v K962 + v T53 48S-1 -100 9.0 2 ||v A9853 v KT 3NE5 460 20 1
+ KQ72 + AJ9654 6SXS-4 1100 -16.0 1 ||e AK6 + JT83 3NE4 430 20 1
aJ S & AT2 & J82 & A7 3NW6 490 3.0 1
®eveN L KQJ54 ®IveN L K83
N 4~~4~ A7 N ~~~~~ ¢J642
S 4~~3~ 4783 S ~~~~~ 4Q7
E ~4~~1 4743 E ~4453 aQ654
W ~4~~1 W ~4453
#9 » KT43 4NN5 -460 Mean: 5NN5 460 50 1 ||#10 » 32 1NW1 90 Mean: 3SW-1 100 60 1
v K3 4NN4 -430 250  5HS5 450 50 1 v KT832 2SW-1-100 -140  2SW-1 100 60 1
+ Q54 Dif: -30 NS:5 4NN5 460 50 2 * K8 Dif: 190 NS:6 1NW1 90 20 2
» AK63 IMP: -1 EW:-5 4NN4 430 50 2 » AT74 IMP: 5 EW:-2 2SwW2 410 1.0 2
a7 # J9862 4HN4 420 50 1 ||s AQ875 » K94 1NW2 120 1.0 1
v JT62 v 94 3NN5 460 50 1 ||e AJT7 + v 64 3SW3 140 00 2
¢ AJT983 *2 3NN4 430 50 1 ||e A4 ¢ QJT65 3SW4 470 1.0 1
& Q2 & T9875 6NN-1 50 7.0 2 ||a& J85 & 962 2SW5 200 20 2
PEVEN ,AQ5 5HN-1 50 7.0 1 POVEN L, JT6 1NW5 210 20 1
N ~~ 445 ¢AQ875 6NN-3 150 90 2 ||N 2~3~~ ¢ Q9 4SW4 620 -100 1
S ~~445 ¢K76 S 2~3~~ 49732
E ~~~~~ aJ4 E ~2~21 &KQ3
W ~~~~~ W ~2~21




e V3 % jrir- _ 8
8 11431;*1 i%}%ﬁm% & ==> R8
1 4 NS: ¥iok = ;I%WFL(EL?C) -19 3 NS: §:=-:L ,ma(sﬁm s| P:| 3.61 : 16.39| Total VP: 83.28 Rank:
EW: B2 #HZ8RBE0) 8 EW: #3X{E #F{E(FC) 1 IMP:| 15 37 5
— E—
#1 # 832 2DXN-2 300 Mean: 2DXN-2  -300 50 1 [|# 2 » QJ94 5DS6 -620 Mean: 6DS6 1370 8.0 7
v J6 4HE6 480 -490  4SE5 450 1.0 2 v KQJ8 6DS6 -1370 1010  3NS7 720 7.0 1
¢ J87654 Dif: -180 NS:0 4HWS5 450 1.0 1 *J7 Dif: 750 NS:8 3NN7 720 7.0 2
a Q4 IMP: -5 EW:-5 3NW5 -460 1.0 1 » 762 IMP: 13 EW:9 5DS6 620 9.0 3
s A5 » KQT64 5HE6 480 0.0 1 ||s KT852 s 73 5DN7 640 9.0 1
v AK72 v 9543 4SE6 -480 0.0 1 v 52 I v T7643
¢ Q93 . 4HW6 480 00 4 (|leQ + 98
& K765 & AT92 4HE6 -480 0.0 2 ||& AK543 & JT98
PIVEON ,J97 6HE6 -980 -10.0 1 ®PIVEN , A6
N ~~~~~ ¢QT8 N ~6~~2 ¢A9
S ~ ~~~~ ¢AKT2 S ~ 6 ~~2 ¢ AKT65432
E 6~654 aJ83 E ~~~~~ aQ
W 6~654 W ~~~~~
#3 » KQT 3SE-2 -200 Mean: 3NS7 520 8.0 1 ||#4 » KQ62 3HE-3 -300 Mean: 3NN3 600 10.0 1
v 94 3CN3-110 170  3NS3 400 60 1 v A64 2CS4-130 170  3HE-3 300 40 1
+ AB2 Dif: -90 NS:-2 3SE-2 200 1.0 1 ¢ 9765 Dif: -170 NS:-1 3HE-2 200 1.0 1
» JT654 IMP: -3 EW:-1 2NS4 180 00 1 » 95 IMP: -5 EW:-4 4CS4 130 1.0 1
& J963 s 752 3CSs4 130 1.0 2 ||a T84 » J53 3CS4 130 1.0 1
v AKQ75 v J6 2NS3 150 1.0 1 [|v KQT3 + v J8752 2Ccs4 130 1.0 7
¢ 985 ¢ Q743 2Ccs4 130 1.0 1 [|e T82 ¢ AQ3 2HE-1 100 20 1
a3 & A987 3CS3 110 20 2 ||s KQ2 & T6 2Ccs3 110 20 1
PIVEeN ,A84 3CN3 110 2.0 1 POIVEN 4 A7
N 3~~~1 ¢T832 2DE-1 00 20 1(|N 43 ~42 o9
S 3~~~1 +KJT 2CSs3 110 20 1 S 43 ~42 4KJH
E ~~~~~ aKQ2 2CSs2 90 20 1 E ~~~~~ & AJ8743
W ~~~~~ W ~~~~~
#5 # 653 3HS4 170 Mean: 3HS4 170 50 1 ||#6 » AT632 3SN4 -170 Mean: 3SN4 170 50 1
v AJ6542 4CW-1-50 -20  3HS3 140 40 2 v AT73 4SN-2100 -30  3SN3 140 50 1
. Q2 Dif: -120 NS:2  3HN3 140 40 1 ¢ T6 Dif: -270 Ns:-2 3DS3 110 40 1
A T6 IMP: -3 EW:-5 2HN3 140 40 1 » J9 IMP: -7 EW:-5 2DS3 110 40 1
s T2 & KQ97 4CW-1 50 20 1 ||s KJ8 475 4SN-1 50 1.0 1
v 87 v K93 4HS-1 100 20 3 ||v QJ964 —_ v K2 3SN-1 50 1.0 3
¢ 63 + KT87 4HN-1 100 20 1 ||e 4 ¢ 9852 4SN-2 100 -20 4
& AQJ9832 & 74 3HN-1 100 -20 1 ||& Q874 & AK653 2HW3 140 30 1
PIVEeN ,AJ4 2NW3 150 -40 1 PIVEN 4, QY4 4SXN-2 300 7.0 1
N ~121~ «QT 4HN-2 200 50 1[N ~3~32 ¢85
S ~121~ ¢AJ954 3NS-3 -300 7.0 1 S ~3~32 ¢ AKQJ73
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
#7 & A96 6SS-1100 Mean: 5SS5 650 80 1 ||#38 » Q54 3NE4 430 Mean: 5DE-2 100 100 1
v QJ84 6SXS-4 1100 310 4SS5 650 8.0 1 v Q7 3NW3 400 -380 4SE4 420 1.0 1
. Dif: -1000 NS:-16 4SS4 620 7.0 7 ¢ 9542 Dif: 30 NS:-1  3NW3 400 1.0 6
» KQ9865 IMP: -14 EW:9 3SS4 170 40 1 » KT93 IMP: 1 EW:2 3NE3 400 1.0 2
» 8732 T 6SS-1 100 90 1 97 » AJT62 4SE5 450 20 1
v K962 + v T53 48S-1 100 9.0 2 ||v A9853 v KT 3NE5 460 20 1
+ KQ72 + AJ9654 6SXS-4 1100 -16.0 1 ||e AK6 + JT83 3NE4 430 20 1
aJ S & AT2 & J82 & A7 3NW6 490 3.0 1
*¢VSN L, KQJS54 P¢VeSN , K83
N 4~~4~ A7 N ~~~~~ ¢J642
S 4~~3~ 4783 S ~~~~~ 4Q7
E ~4~~1 4743 E ~4453 aQ654
W ~4~~1 W ~4453
#9 » KT43 6NN-3 150 Mean: 5NN5 460 50 1 ||#10 » 32 2SW2 110 Mean: 3SW-1 100 60 1
v K3 6NN-3 150 250  5HS5 450 50 1 v KT832 1NW190 -140 2SW-1 100 60 1
+ Q54 Dif: 0 NS:-9 4NN5 460 50 2 + K8 Dif: 20 NS:2 1NWA 90 20 2
» AK63 IMP: 0 EW:9 4NN4 430 50 2 » AT74 IMP: 1 EW:-1 2Sw2 410 1.0 2
a7 # J9862 4HN4 420 50 1 ||s AQ875 & K94 1NW2 120 1.0 1
v JT62 v 94 3NN5 460 50 1 ||e AJT7 + v 64 3SW3 140 00 2
¢ AJT983 *2 3NN4 430 50 1 ||e A4 ¢ QJT65 3SW4 470 1.0 1
& Q2 & T9875 6NN-1 50 7.0 2 ||& J85 & 962 2SW5 200 20 2
PEVEN ,AQ5 5HN-1 50 7.0 1 POVEN L, JT6 1NW5 210 20 1
N ~~ 445 ¢AQ875 6NN-3 150 90 2 ||N 2~3~~ ¢ Q9 4SW4 620 -100 1
S ~~445 ¢K76 S 2~3~~ 49732
E ~~~~~ aldd E ~2~21 &KQ3
W ~~~~~ W ~2~21




